Assignment 4: Constructing a multiple indicator index (actually: more…)

To be handed in before Thursday May 3, 12:00 (noon).
For this assignment we move to the comparative level: we are no longer looking at the ISSP data on the Netherlands, but on other countries around the world with different welfare regimes. Each of us adopts three countries:

	Carlos
	Denmark
	USA
	Ukraine

	Daphne
	Finland
	Great Brit.
	Russia

	Efe
	Iceland
	Taiwan
	Poland

	Iteke
	Norway
	Australia
	Latvia

	Johannes
	Sweden
	New Zealand
	Hungary

	Juliana
	Belgium
	Korea
	Slovakia

	Maartje
	Germany
	South Africa
	Czech Rep

	Nicolette
	France
	Chile
	Bulgaria

	Samantha
	Austria
	Argentina
	China


You can select your countries with the following spss statements.

Recode V5 (xxx yyy zzz=1)(else=0) into mycountries.

Select if (mycountries eq 1).

The ISSP data are about attitudes on income redistribution and perception of social conflict in society, as found in the variable V32-V37 and V40-V43. I think these two groups of items measure two different concepts, but I wonder whether that holds in all individual ISSP country. Conduct your analysis for you three countries jointly and separately and try to come to a decision about whethet makes sense to used the same procedures and if so, how the three countries compare in terms of the contructed index variables and their correlations with criterion variables.

A. Make a table that describes in a concise way the necessary information about the indicators. Comment on which prepatory steps are necessary for further processing in index construction. Describe the missing values patterns.

B. Examine the dimensionality of your set of indicators using factor analysis (preferably use Principal Axis Factoring [PAF] with oblimin rotation. Using the results of the factor analysis, reorder the correlation matrix in way that makes the dimensionality visible. Try to obtain a crisp (‘simple structure’) solution with at most two underlying factors. In this step you should how two types of validity: (A) your subset of indicators shows high internal correlations, (B) your subset of indicators shows low(er) correlations with indicators that are not in the subset.

C. Examine the reliability of the two dimensions separately using reliability analysis. Report on the number of valid cases that remain in the analysis. Interpret the cronbach’s alpha you obtain.

D. Construct the index variables in two different ways: (A) taking the unweighted average using the spss statement: compute index=mean(y1,y2,y3,..). Alternatively, use component analysis (factor analysis, extraction=pc, norotation) to generate an index variable. Compare the two results in terms of means, dispersion, valid N and correlations with exogenous variables, in particular age, female, education and income.

E. There are generally three measures of educational attainment available for each country: a national indicator (XX_DEGR), an internationally harmonized version (DEGREE), and a duration measure (EDYCYRS). Describe these three variables and their relationship (this can be very different between countries). How can you sensibly combine this information into a single index of educational attainment that used all avaiable information and is still internationally comparable. Create an index variable and describe it. Then examine whether combining multiple indicators into a single index helps to increase reliability by examining the correlation between the individual indicators and the index with criteriom variables, such as the attitudes on income redistribution.

